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1D pull distribution
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g_evMon10 RMS (ppm)

corr_us_av

5 5. 4 5. 3 5. 2 5. 1
< ™ o~ —

(wdd) siny

0
o

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
T'Leoy
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y



@ © < N

< @ o o n n ©o 0
o I - 0 Q ~
S N S @ 2 2
R & & 2 s
H H © 2] =] % .
IN © @ + 2 -
8 & - g 3 B
8 @ g s —
S e 3 E
T S
S n
> m 3 - € -1
o £ o <] s © —
c ] c S ] S 2 ] E i
sl 8 5 & %« 8§ = @ .
=
=}
2 R
= m
= ]
2 _ —
ko] ]
= -
o
o n
i .
P IR T T B | | Ly o 1y 07
0 © < N =) < o~ =)
— - - — -
[
©
o @
__ — e
o M
0 -+
© <
™ 0
N~
o
Y—
©
c
—~|™~
2% 28
Q|
—
—
c
=
>
e_
()]
>
a_
0
>
a
f—
(@]
o
—————
———
______________
=) o [=) [=)




g_evMonl1l RMS (ppm)
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